CBSE Class 12 Geography Compartment Question Paper 2019 (July 2, Set 2- 64/1/2)
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e Please check that this question paper contains 12 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(1) There are. 22 questions in all.
(11)  All questions are compulsory.

(111) Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Answer to each of these questions should not exceed 80 — 100 words.

(V) Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

(vi) Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

(vit) Qutline maps of the World and India provided to you must be attached
within your answer-book.

(viit) Use of templates or stencils for drawing outline maps is allowed.
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Qug <h
SECTION A

1. NI =9 9 qAT TR 9 o9 W H A TS hIFIT | 1
HAAT
o i HIY o od ufiy B i T Ffvr 1
Differentiate between ‘Culturable wasteland” and ‘Barren and
Wasteland'.

OR

Differentiate between ‘Dryland farming’ and ‘Wetland farming’.

2.  3feu Y 98t e &7 ° 30 ThEt U wAaii guE ki W@ Hifvu | 1

Examine any one environmental problem that emerged in the Indira
Gandhi Canal Command Area.

3. HUR U TG UYhl hl T TR AThNd Hidl & ? 1
How does ‘climate’ attract tourists in the world ?
4. 349 |G 1 AW foilgu, &1 Tgsh odcd AR Usiihd dTEAl shl HE&I1 Had

3fYH 3 | 1

Name the continent which has the highest road density and the highest
number of registered vehicles.

5.  3ThIhl H SHAT-AMT qldl 98I H o SHEEAT g o &I HRUT ol TIveryol
1T | 1
SO

ATIATE 3T I H 3Tt TG hIfVT | 1

Analyse the main reason for dense population 1in ‘Katanga-Zambia
Copper Belt’ in Africa.

OR

Differentiate between immigration and emigration.

6. WRd o fohwal @l U9 TR o 918 TdRgu |
AAST
YA o foheal @l ALARIAE TR o 98 faRgu |

Name any two ancient towns of India.

OR
Name any two medieval towns of India.
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STaT 8 | 1

Name the phase which 1s referred to as the period of ‘population
explosion’ in India.

LG LCRE|
SECTION B
8. WA kY o Tsh Holed &0¥ o &Y H Hdd IIYURFAT <hl FehoUHl 1 HoITohH

I | 3

SO
qHd fahmE % g9 HE@qUl Tl H U Tk GHAT shl GehoUdl 1 HodTehd
1T | 3
Evaluate the concept of ‘sustainability’ as a strong pillar of human
development.

OR

Evaluate the concept of ‘equity’ as one of the most important pillars of
human development.
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Study the diagram given below carefully and answer the questions that

follow :
1200 - i .
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(9.1) Name the developed country which has the most favourable
sex-ratio in urban areas.

Zimbabwe Canada Brazil Nepa

(8.2) Which developing country has the most favourable sex-ratio in
rural areas ?
(9.3) Which developed country has the most unfavourable sex-ratio in

rural areas ?

FiZ :  HHICTIRGd 597 @ercl FIPATiad GOemidar & 678, 397 G&1 9 & &7 W 8 :

Note : The following question is for the Visually Impaired Candidates only,
in lieuof QrNo..9 :

TER o $&.¢3M H T dTa Afgetisti o Jided =i g ? TS HitaT | 1+2=3

Why 1s the sex-ratio unfavourable to women in some countries of the
world ? Explain.

10. S9-HYIAATE ol HoheudT TehdH T&qd il ? Fa-HI=dTg i Heheddl hl Tohral al
forsryaratt 1 auig hifsw | 1+2=3

Who introduced the concept of Neo-determinism ? Describe any two
features of this concept of Neo-determinism.

11. H9Rd o 31 TeeA % 9geld JTEY 1 GedTehd <hilT | 3

Evaluate the changing patterns of the composition of India’s exports.

12. TI99 YR G134 (S, 21.311.) <hl AT AR TaUe o=l foham 71 3 2 Teheal

19 ShIUTT hl €IS HITIT | 1+2=3
AT
T Gl (U2 7T HI9R) s YR W Iiichd I JehR o FHgI -l <hl
W er@rq | 1)(3:3
64/1/2 5 P.T.0.
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Why has World Trade Organisation (WTO) been criticised and opposed ?

Explain any three reasons.

OR

Explain three types of seaports classified on the basis of cargo handled by
them.

13. U U g &1 AEYHIYds ALFT HIfWT R 38 e T T I3 o 3w
%I'@Q: I1+1+1=3

& e
Il

(13.1) HHEfIAT H fe@U U 8T U SE9Td AT <hl U <hifoU 3T ITeh
¥ TIRgU |

(13.2) 39 G Ud SHUTd I o T HHIST o Gidl ol 3gE hilwIT |

(13.3) I8 T8l Ud 3WTd 933 T8 JhR ATEnfies faertd o1 YR IR Hdl
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Study the given map carefully and answer the questions that

follow :
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(13.1) Identify and name the iron and steel plant shown in the map.
(13.2) Mention the sources of manganese for this iron & steel plant.

(13.3) How does this iron and steel plant form a base for industrial
development ?

FIZ :  [HHEIIREd J99 $eci GRETIET Ghemidat & 678, 397 §&97 13 & €I T &

Note: The following question is for the Visually Impaired Candidates only,
in lteu of Q. No. 13 :

AT U SETd N Rl ‘U ITTT Al hal AT & ? 3SR died T
ShiTTT | I1x3=3

Why 1s the iron and steel industry known as ‘heavy industry’ ? Explain
with examples.

64/1/2 7 P.T.O.
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Qus 1
SECTION C

14. GER § Yoidld Toeqd aTivs TS W <kl Toheal gl ToRiydrett shl same
$INT | I%6=5

Explain any five features of ‘Extensive commercial grain cultivation’

practised in the world.

15. 9Rd § S JgNUI s ShIUT T Tl 61 fagaivor Shifg | 3+2=5

Analyse the causes and consequences of water pollution in India.

16. WRA I ST o Hewdl Ud IUCI{eul shi sATedl shiftwg | 3+2=5
COCH)
“I0E AR hE il W AUl YiHeh! YT @1 8 |7 IUIh 3SIE |lgd 39
Y hl gfse hiT | 2+3=5

Explain the importance and achievements of Indian rail network.

OR

“Satellite-.communication is playing an important role in several ways.”
Support the statement with suitable examples.

17. WHES G941 G0 =T ThIT JHT 18T 2 Yd § Wis 19T o F&I0T 6

fohegl <M aiehl shl SITEAT SHIfTT | 2+3=5
GG

“SAIINTA Holl & Fid Afeeh [Ehrs TTREATTH-3hd 3T &l Sl IucAsy

HUd 7 |7 IUYH 318N Aled 36 hoH hl gfed hIfT | 3+2=5

Why should mineral resources be conserved ? Explain any three ways to
conserve mineral resources in India.

OR

“The non-conventional energy sources provide more sustained,
eco-friendly form of cheaper energy.” Support the statement with suitable
examples.

64/1/2 8
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18. O¥H TS [dh™ HRHHA GRI MY foheal drg FRIT WHIGAT 1 UM
hiteTy | I1x5=5

Describe any five urban strategies as outlined by the ‘United Nations

Development Programme’.

19. “H9R H &g 99 % I kI CAMTAT i 3HE Fh HYMd Hd 8 |7 34

$ ! gsd HIT | 5
AT

“GOR W ° 9 3T 4 3= rRNfiehl TdiHad Tiet 8 |7 39 e i g

T | 5

“Locations of large scale industries in the world are determined by
several factors.” Support the statement.

OR

“High technology 1s the latest generation of manufacturing industries
across the globe.” Support the statement.

20. YNd H HHd [dhd Hehlh o AThad H 3Tk IUATSHAT bl fHehl <hI
foreetor shifeme | 5

Analyse the role of economic attainments in the assessment of Human

Development Index in India.

21. WER % fqu U TSk {@I-HHERS (I8 13 W), H 9= WiTiicis AN <hl
A, B, C,D 3R EH fc@rm T 3 | 3eh! 989 HHATIRgd JIHehRI <hl Heg |

HITTT 3 39h Fal ATH 39ob UTH Wil T3 {1l W fIRay 1x5=5
A, AU 91 U7
B. YH@ @Hqgl 9dH
C. THaigs "ugw 1 ts yq@ &
D. T &
E. 3= T
64/172 9 pT.0.
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On the given political outline map of the World (on page 13), five
geographical features have been marked as A, B, C, D and E. Identify
them with the help of the following information and write their correct

names on the lines drawn near them :
A. An international airport

B A major seaport

C A major area of subsistence gathering
D. A mega city
E

An 1ndustrial region

FIZ:  [HElE@d 3 #ac gigartad ghigmaat & low, J97 Geqr 21 & T
W E

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of €. No. 21 :

(21.1) Y ©h fehE! Teh Y@ FYg! U0 &1 A1 TIRIT |
(21.2) TURMT < [hET Teh FAAUSL AT I bl 4 TIRdy |

(21.3) <feqor 3mfent o foret we amr f&dt o1 9w fafgu |
(21.4) IO THIERT & Teh MR Y31 i A1 fAfgu |
(21.5) A%IhT o Y@ Halgd U & 1 419 Ray | 1x5=5

(21.1) Name any one major seaport in Europe.
(21.2) Name any one international airport in Asia.
(21.3) Name any one mega city in South America.
(21.4) Name an industrial region in North America.

(21.5) Name the major area of subsistence gathering in Africa.
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22. WRA % U 7Y TSHIfdeh WT-AMRS (Y8 15 W), § Hefcifad | 9 fag? gier
WiTTiTetsh @equn hi fe@rsy 3R 3 Am fIRau - Ix5=5

(22.1) 3TISIM H Ueh g 3TEh @H
(22.2) 98 USY TSHH STMYSTERT shl T&IT 9a9 Ak 8

(22.83) <A bl U IcqTeh T

(22.4) 3TH I Teh HaUSCT 91 U<
(22.5) HET YT 1 Teh HIFCaFX CaTATS] UTeh

(22.6) TSIUd Bl Teh dcl IMEH HRGMHI
(22.7) 98 TSY EH TR0 &1 T T8 A &

(22.8) clefl & HUSA I T

Locate and label any five of the following geographical features on the

given political outline map of India (on page 15) :

(22.1)  An IronOre mine in Odisha

(22.2) 'The State with the largest number of immigrants
(22.3) The leading producer State of rice

(22.4) An international airport in Assam

(22.5) Software Technology Park in Madhya Pradesh
(22.6) An Oil refinery in Gujarat

(22.7) The State with lowest level of urbanisation

(22.8) Headquarter of Southern Railway zone

P T4
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lL-.

T2 :

Note :

[AETITRET 597 @heaci GIRETINT GO & 79, 397 G&7 22 & €I T
g | gt aier go1 & 3 o 1

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22. Attempt any five questions.

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)

(22.8)

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)
(22.6)
(22.7)
(22.8)
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3T o TAUSET I U bl 911 ToTRaT |

LT UGl o HIFCAIL SIS UTeh ol 18 TIiaT |

SHAING b Ueh g 3FEh GH okl A0 fIRgu |

39 TY 1 W faRau, fSgd syenfe i g o9 Afys 7 |

T ok 3T 3c9Teeh TS okl 419 TOIRgU |
TSRId o fohel Teh dd MY ShR@MH &1 911 TdTiEy |

gleqult I Aved o &I 1 A1 oIRGU |
TIHT o TFH HH T a1t TsT ] 919 [IRgU | Ix5=5

Name an international airport in Assam.

Name a software technology park in Madhya Pradesh.
Name an iron ore mine in Chhattisgarh.

Name the State with the largest number of immigrants.
Name.-the leading producer State of rice.

Name any one oil refinery in Gujarat.

Name the headquarter of Southern Railway zone.

Name the State with lowest level of urbanisation.
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L et
I3 9. 22 o ToTu For question no. 22
YA h1 {@T-ATH AT (TR )
Outline Map of India (Political)
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